Tableaux des Puissances de Dix (I)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 100

10 000 1000 10

7,5

8,08

9,67

2,04

6,9

X 10 000

100 10 1 000

9,44

5,43

4,76

8,68

6,12

= 10 000

1000 100 10

6,46

1,75

8,7

4,84

7,63

+ 1000

100 10 10 000

9,69

8,41

1,65

4,3

5,86

MathsLibres.com




Tableaux des Puissances de Dix (I) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 100 10 000 1000 10
7,5 750 75000 7 500 75
8,08 808 80 800 8 080 80,8
9,67 967 96 700 9670 96,7
2,04 204 20400 2 040 20,4
6,9 690 69 000 6 900 69

X 10 000 100 10 1000
9,44 94 400 944 94,4 9440
5,43 54 300 543 54,3 5430
4,76 47 600 476 47,6 4760
8,68 86 800 868 86,8 8 680
6,12 61 200 612 61,2 6120

+ 10 000 1000 100 10
6,46 0,000646 0,00646 0,0646 0,646
1,75 0,000175 0,00175 0,0175 0,175
8,7 0,00087 0,0087 0,087 0,87
4,84 0,000484 0,00484 0,0484 0,484
7,63 0,000763 0,00763 0,0763 0,763

+ 1000 100 10 10 000
9,69 0,00969 0,0969 0,969 0,000969
8,41 0,00841 0,0841 0,841 0,000841
1,65 0,00165 0,0165 0,165 0,000165
4,3 0,0043 0,043 0,43 0,00043
5,86 0,00586 0,0586 0,586 0,000586
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